
 

Year 1 home learning 5.1.18 

Phonics  

 Read the following words focussing on the sound ‘th’. Put 3 of the words into a sentence. 

Three   thorn 

Thick   bath 

Thin   path 

Maths  

Complete the following addition calculations:  

1.) 4 + 6 =   2.) 7 + 4 =      3.) 8 + 12 =   4.) 14 + 5 =  

Challenge – Ben has 7 balloons and Jessica has 6 balloons. How many do they have 

altogether?  

Reading  

Remember to read at least 4 times a week and get an adult to sign  

your reading record at home.  
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